
I–101 

(Assignment Work)

 Physical Chemistry    

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- ØkWEiVu foLFkkiu dk eku fyf[k,A 
Write the value of Crompton Displacement. 

2- ijek.kq esa ,dy bysDVªkWu dk rjax Qyu D;k dgykrk gS \ 
What is known the wave function of single electron in atoms ? 

3- prq"Qydh; vkÑfr esa fdl izdkj dk ladj.k gksrk gS \ 
Which type of hybridization is found in tetrahedral shape ? 

4- izfr&Dok.Ve mPpre ÅtkZ okys fofdj.k D;k dgykrs gaS \ 
What is called highest energy radiation of anti-quantum ? 

5- ds&cS.M D;k gS \ 



What is a K-Band ? 

6- n-II* laØe.k fdlesa ik;k tkrk gS \ 
n-II* transition is found in what ? 

7- ekslks;Vh&Dykfl;l dsoy lehdj.k fyf[k,A 
Write the only Mossoti-Clausius  equation. 

8- ØkWEiVu rjaxnS?;Z dk eku 4-42 ih-&,e- ds cjkcj fdl dks.k ij gksrk gS \ 
Which angle is equivalent of value of Crompton wavelength in 2.42 p.m. 

 

[k.M&c 
(Section—B) 

9- Mh&czksXyh ifjdYiuk dks fl) dhft,A 

Prove the De-Broglie Hypothesis. 

10- JksÇMtj rjax lehdj.k dk laf{kIr esa o.kZu dhft,A 
Describe in short of Schrödinger wave equation. 

11- rjax Qyuksa ls ÅtkZ Lrjksa dh x.kuk dhft,A 
Calculate the Energy level of wave function. 

12- f}ijek.oh; v.kq dks crkb,A 
Explain the Bi-atomic molecules. 

13- fo|qr /kzqo.krk D;k gS \ 
What is electric polarisation ? 

14- uuZLV ÅtkZ lehdj.k dks fyf[k,A 
Write the Nernst energy equation. 

 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- Dok.Ve la[;k,¡ D;k gSa \ buds egRo dks crkb,A 
What are quantum numbers ? Explain their importance. 

16- v.kq d{kd fl)kUr dks le>kb,A 
Explain the Molecular orbital theory. 



17- fo|qr pqEcdh; fofdj.k D;k gS \ 
What is Electrico-Magnetic Radiation ? 

18- izsfjr f}/kqzo vk?kw.kZ dks crkb,A 
Explain the induced dipole moment. 

 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- vkbxsu Qyu o vkbxsu eku dk o.kZu dhft,A 
Describe the Eigen function and Eigen value. 

20- leLFkkfud izHkko dks le>kb,A 
Explain the Isotopic effect. 

21- Å"ekxfrdh ds r`rh; fu;e ds vuqiz;ksx dks lfoLrkj crkb,A 
Describe the application of Third Law of Thermodynamics. 

22- js[kh; feJ.k ijek.oh; d{kd (L.C.A.O.) dks mnkgj.k lfgr le>kb,A 
Explain the linear combination of atomic orbital with examples. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- tscykWUldh vkjs[k dk foLrr̀ o.kZu dhft,A 
Explain the Jablonski Diagram. 

24- ,dfoeh; ckWDl ds d.k dk o.kZu dhft,A 
Explain the particle in a single dimension box. 

 

 

 
 

 

 
 

 

 



I-102 

(Assignment Work)

 Inorganic Chemistry    

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- sp3d  ladj.k esa ;kSfxd dh T;kfefr D;k gksrh gS \ 
What is the geometry of complex in sp3d  hybridization ?  

2- prq”Qydh; {ks= ds fy, CFSE dk eku blds lkis{k ds lkFk fyf[k,A 
Write the CFSE value for tetrahedral field with respect to octahedral field. 

3- fdlh inkFkZ ds izfrpqEcdRo ds eq[; dkj.k D;k gSa \ 
Give the main reasons for diamagnetism of any substance. 

4- nks v;qfXer bysDVªkWuksaaa ds fy, eff  dk eku fdruk gksxk \  

What would be the eff  value for two unpaired electrons.  



5- QkWLQkthUl dk jklk;fud lw= fyf[k,A 
Write the chemical formula of phosphazene. 

6- /kzqo.kh;rk dks ifjHkkf”kr dhft,A 
Define the term Polariability. 

7- lw{e rRoksa dk mnkgj.k nhft,A 
Give the examples of Microelements. 

8- gheksXyksfcu dk v.kqHkkj fdruk gksrk gS \  
What is the molecular weight of Hemoglobin ? 

[k.M&c 
(Section—B) 

9- fLV;fjd izHkko D;k gS \ 
What is Steric effect ? 

10- pqEcdh; lqxzkfgrk fdls dgrs gSa \ 
What is magnetic susceptibility ? 

11- Qtku ds fu;e dh foospuk dhft,A 
Explain the Fajan’s rule. 

12- flfydkWUl fdls dgrs gSa \ 
What are the silicones ? 

13- ukbVªkstu ds fLFkjhdj.k dh lk;ukekbM fof/k dks le>kb,A 
Describe the cyanamide method of Nitrogen stabilization. 

14- lgthfork ij fVIi.kh fyf[k,A 
Write a note on Symbiosis. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- fØLVy {ks= LFkkf;Ro ÅtkZ ls vki D;k le>rs gSa \ 
What do you understand by crystal field stabilization energy ? 

16- izfrpqacdh; o vuqpqacdh; inkFkks± esa vUrj crkb,A 
Explain the difference between diamagnetic and paramagnetic compounds.  



17- izHkkoh ijek.kq la[;k fu;e D;k gS \ mnkgj.k lfgr le>kb,A 
What is effective atomic number rule ? Explain by giving suitable example. 

18- gheksXyksfcu dh T lajpuk vkSj R lajpuk eas vUrj Li”V dhft,A 
Explain the difference in the T structure and R structure of haemoglobin. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- dhysV izHkko dks foLrkj ls le>kb,A 
Explain in detail the Chelate effect. 

20- pqEcdh; O;ogkj fdls dgrs gSa \ blds izdkjksa dk o.kZu dhft,A  
What is magnetic behaviour ? Discuss their types. 

21- /kkrq dkcksZfuy ij laf{kIr fVIi.kh fyf[k,A 
Write a short note on metal carbonyl. 

22- dBksj rFkk eǹq vEy dk lkekU; fooj.k nhft,A 
Describe the hard and soft acids. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- la;kstdrk ca/k fl)kUr D;k gS \ bldh mi;ksfxrk ,oa nks”k dks foLr`r :i esa le>kb,A 
What is the Valence Bond Theory ? Describe its advantages and disadvantages in detail. 

24- gheksXyksfcu ,oa ek;ksXyksfcu dh lajpuk dk o.kZu dhft,A 
Discuss the structure of Haemoglobin and Myoglobin. 

 
 
 
 
 
 
 

 

 
 

 

 



I–103 

(Assignment Work)

 Organic Chemistry    

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- csathu lYQksfud vEy ds ukbVªhdj.k ij D;k mRikn curk gS \ 
What product is formed by nitration of benzene sulphonic acid ? 

2- eSVk&Dyksjkscsathu lYQksfud vEy dk lajpuk lw= fyf[k,A 
Write structure formula of meta-chlorobenzene sulphonic acid. 

3- uEcj ,ojst ekWyhD;wyj ekl dk QkewZyk fyf[k,A 
Write formula for number average molecular mass. 

4- FkeksZIykfLVd ikyhej dks ifjHkkf"kr dhft,A 

Define thermoplastic polymer. 



5- ,fYMgkbM o dhVksu ds fy, max dk eku fyf[k,A 

Write the value of max for aldehyde and ketone. 

6- dSfedy f'k¶V dks ifjHkkf"kr dhft,A 

Define chemical shift. 

7- Mh&dkcksZfDlys'ku vfHkfØ;k dk ,d mnkgj.k nhft,A 

Give one example of de-carboxylation reaction. 

8- U;wfDyd vEy ds nks tSfod dk;Z crkb,A 

Write any two biological functions of nucleic acids. 

[k.M&c 
(Section—B) 

9- Dyksjkehu&Vh D;k gS \ bls cukus esa iz;qDr vfHkfØ;kvksa dks fyf[k,A 

What is Chloramine-T ? Write the reactions for its formation. 

10- Xywdkst dks ÝDVkst esa cnyus dh vfHkfØ;k fyf[k,A 

Write the reaction for conversion of glucose into fructose. 

11- flfVªd vEy dh fofHkUurk dh fof/k;k¡ fyf[k,A 

Write the methods of variation in citric acid. 

12- eqDr ewyd cgqyhdj.k ¼ikWyhejkbts'ku½ vfHkfØ;k dks le>kb,A 

Explain free radical polymerization reaction.  

13- ch;j dk fu;e le>kb,A bldk xf.krh; lw= fyf[k,A 

Explain Beer’s law with its mathematical expression. 

14- izksVkWu pqEcdh; vuqukn LiSDVªksLdksih dk fl)kUr fyf[k,A 

Write down the principle of PMR spectroscopy. 

 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- bafMxks D;k gS \ ,fuyhu ls bldks la'ysf"kr djus dh fof/k dks le>kb,A 



What is Indigo ? How can we synthesize it from aniline ? Explain.  

16- Mkb,fFky eSyksusV ds la'ys"k.k dh fof/k;ksa dk foLr`r o.kZu dhft,A 

Write the methods of preparation of diethyl malonate with proper reaction mechanism. 

17- ijkcSaxuh o n`';izdk'k LisDVªksLdksih ds bysDVªkWuh; laØe.k dks le>kb,A 

Explain the electronic transition in UV Visible spectroscopy. 

18- IR LisDVªksfefr ds vk/kkj ij bFksusekbM o ,Fksu ,ehu esa vki dSls foHksn djsaxs \  
How will you differentiate between ethanamide and ethane amine on the basis of IR 
spectroscopy ?  

 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- ukfHkdh; ifjj{k.k ,oa foifjj{k.k dks foLrkj ls le>kb,A 
Explain nuclear shielding and deshielding in detail. 

20- Xywdkst ds pØh; :i dks iznÆ'kr djus okyh jklk;fud vfHkfØ;k nhft,A 
Give chemical reaction which shows cyclic form of glucose. 

21- ,FksukWy ds PMR spectra dh O;k[;k dhft,A 
Explain PMR spectra of ethanol. 

22- ,fFky ,slhVks,lhVsV cukus dh Dystu la?kuu fof/k fyf[k,A 
Write Claisen condensation method to sythesize ethyl acetoacetate.  

 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- fuEufyf[kr dks le>kb, % 
¼v½ pyko;ork ,oa vuqukn 
¼c½ izksVhu dh izkFkfed lajpuk 
Explain the following : 

(a) Tautomerism and resonance 



(b) Primary structure of protein 

24- 116 v.kqHkkj okys ,d ;kSfxd ls fuEufyf[kr LisDVªksLdksfid lwpuk,¡ izkIr gksrh gSa % 

(i) UV : 283 nm ∈max 22 

(ii) IR : 3000-2500 cm– 1 (b) 1715 cm– 1 (s)  1342 cm– 1 (W) 

(iii) NMR : 2.12 ÇlxysV (3H), 2.6 fVªiysV (2H), 2.25 fVªiysV (2H) ,oa 10.9 ppm ÇlxysV 

(1H)A 

;kSfxd dk lajpuk lw= crkb,A 

A compound with 116 molecular weight give the following spectroscopic information : 

(i) UV : 283 nm ∈max 22 

(ii) 1R : 3000-2500 cm–1 (b) 1715 cm–1 (s) 1342 cm– 1 (W) 

(iii) NMR : 2.12 singlet (3H), 2.6 triplet (2H), 2.25 triplet (2H) and 10.9 ppm singlet (1H)A 

Write the structural formula of the compound. 

 

 
 
 
 
 
 

 

 
 

 

 



I–104 

(Assignment Work)

   

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- tUrq Iyod ds nks uke fyf[k,A 
Write two names of Zoo-plankton. 

2- ok;qe.My esa ukbVªkstu dk izfr’kr fyf[k,A 
Write percentage of nitrogen in atmosphere. 

3- izR;sd VªkfQd ysoy esaa fdruh ÅtkZ LFkkukarfjr gksrh gS \ 
How much energy is to be transfer to each trophic level ? 

4- ÅtkZ dk fijkfeM dSlk gksrk gS \ 
How is pyramid of energy ? 



5- fVªisukslksek xSfEc;Ul ls dkSu&lk jksx gksrk gS \ 
Which disease is caused by Trypanosoma gambience. 

6- vkyw ds gjs Hkkx esaa dkSu&lk inkFkZ ik;k tkrk gS \ 
Which substance is found in green part of potato ? 

7- nw/k esaaa fdruk dSfY’k;e ik;k tkrk gS \ 
How much calcium is to found in milk ? 

8- ^flQfyl* chekjh fdlls gksrh gS \ 
By which “Syphlis” is caused ? 

[k.M&c 
(Section—B) 

9- vkWDlhtu pØ dk o.kZu dhft,A 
Describe Oxygen cycle with diagram.  

10- la[;k ds fijkfeM dk lfp= o.kZu dhft,A 
Describe pyramid of number with diagram.  

11- dhV ,oa fo”kkärk ij fVIi.kh fyf[k,A 
Write a note on Insect and Poisoning. 

12- thok.kqvksaa ds izeq[k y{k.k fyf[k,A 
Write salient feature of Bacteria. 

13- flLVkslksek ds thou pØ dk lfp= o.kZu dhft,A 
Describe life cycle of Schistosoma with diagram. 

14- ou laj{k.k ds mik; fyf[k,A 
Write strategy for forest conservation. 

l=h; dk;Z&2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- lef”V dks izHkkfor djus okys dkjdksa dk o.kZu dhft,A  
Describe factors affecting population. 

16- ‘kSYQksMZ dk lfg”.kqrk dk fu;e dks le>kb,A 
Explain Shelford’s law of tolerance. 

17- tgjhys inkFkks± dk oxhZdj.k dhft,A 
Classify Toxic Substance. 



18- ,M~l ds ckjs esaaa foLrkj ls o.kZu dhft,A 
Describe about AIDS in detail. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- lef”V ?kuRo dks izHkkfor djus okys dkjdksaa dk o.kZu dhft,A 
Describe factors affecting population density. 

20- ikfjfLFkfrd rU= esa ÅtkZ izokg dk o.kZu dhft,A 
Describe energy flow in Ecosystem. 

21- izkÑfrd fo”kdkjdksa ij fVIi.kh fyf[k,A 
Write a note on Natural Toxicants. 

22- lw{etSofoKku dh vuqizk;ksfxd ‘kk[kkvksaa dk o.kZu dhft,A  
Describe branches of Applied Microbiology 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- jksxtud gsfYeUFkhl dk foLrkj ls o.kZu dhft,A 
Describe Pathogenic Helminthes in detail. 

24- ikfjfLFkfrd rU= dh ifjHkk”kk fyf[k,A tyh; ikfjfLFkfrd rU= dk mnkgj.k lfgr o.kZu dhft,A 
Write definition of ecosystem. Describe aquatic ecosystem with examples. 

 
 

 
 
 
 
 
 

 

 
 

 

 



I–105 

(Assignment Work)

     

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- Mkmu flaMªkse D;k gS \ 
What is Down’s syndrome ? 

2- ,fiLVkfll D;k gS \ 
What is epitasis ? 

3- VªkalQjst ,atkbe dk D;k dk;Z gS \ 
What is the function of transferase enzyme ?  

4- ,DtkslkbVksfll ds nks mnkgj.k fyf[k,A 
Write two examples of exocytosis. 



5- esfFk;ksuhu dh lajpuk cukb,A 
Draw the structure of methionine. 

6- isIVkbM~l D;k gSa \ 
What are peptides ? 

7- Rf ewY; dks ifjHkkf”kr dhft,A 

Define Rf value. 

8- pBR-322 D;k gS \ 
What is pBR-322 ? 

[k.M&c 
(Section—B) 

9- ØkWflax vksoj dk egRo fyf[k,A 
Write the significance of crossing over. 

10- ,dy thu fodkj ls vki D;k le>rs gSa \ 
What do you mean by single gene disorder ? 

11- lfØ; ifjogu dh fo’ks”krkvksa dh O;k[;k dhft,A 
Explain characteristics of active transport. 

12- mi;qDr mnkgj.k ds lkFk fefJr fyfiM dks ifjHkkf”kr dhft,A 
With suitable examples, define compound lipids. 

13- oS|qrd.klapyu D;k gS \ 
What is electrophoresis ? 

14- vidsanzh cy dh x.kuk ds fy, lw= fyf[k,A 
Write the formula for calculating centrifugal force. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- xq.klw= foiFku D;k gS \ eksukslkseh dks le>kb,A 
What is chromosomal aberration ? Explain monosomy. 

16- thu Dyksfuax dh ppkZ dhft,A 
Discuss gene cloning. 



17- Vhdk la’ys”k.k dks ifjHkkf”kr dhft,A 
Define vaccine synthesis.   

18- ;kSfxd vkSj bysDVªkWu lw{en’khZ esa varj fyf[k,A 
Write differences between compound and electron microscope. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- mi;qDr mnkgj.kksa ds lkFk ØkWflax vksoj ds izdkj le>kb,A 
With suitable examples, explain the types of crossing over. 

20- dksf’kdk f>Yyh ds vkj&ikj NksVs v.kqvksa ds ifjogu dh ppkZ dhft,A 

Discuss transport of small molecules across cell membrane. 

21- dkcksZgkbMªsV ds mikip; dh ppkZ dhft,A 
Discuss carbohydrate metabolism. 

22- mi;qDr mnkgj.k ds lkFk isij ØkseSVksxzkQh ds izdkjksa dh ppkZ dhft,A 
With suitable example, discuss the types of paper chromatography.  

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- tSo&izkS|kSfxdh ds fofHkUu vuqiz;ksxksa dks fyf[k,A 

Write different applications of biotechnology. 

24- ,atkbe fØ;k dh fØ;kfof/k le>kb,A 
Explain mechanism of enzyme action. 

 

 
 
 
 
 

 

 
 

 

 



I–106 

(Assignment Work)

 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z&1 
(Assignment—1) 

[k.M&v 

(Section—A) 

1- ijklj.k nkc dh bdkbZ D;k gS \ 
What is the unit of osmotic pressure ? 

2- fMDlu ,oa tkWyh fdl dk;Zdh; izfØ;k ls lEcfU/kr gSa \ 
With which physiological activity Dixon and Jolly are related ? 

3- ykbist fdl vfHkdkjd ls lEcfU/kr gS \ 
To which substrate Lipase is related ? 

4- ØsCl pØ esa ik;#fod vEy fdl :i esa izos'k djrk gS \ 
In which form pyruvic acid enters in Krebs cycle ? 



5- iq"iu fØ;k esa Hkkx ysus okys gkWeksZu dk uke crkb,A 
Name the hormone which takes part in flowering process. 

6- ukbVªkstu fLFkjhdj.k fØ;k esa LorU= ukbVªkstu ls D;k izkIr gksrk gS \ 
What is produced from free nitrogen in the process of nitrogen fixation ? 

7- DNA dks vUr%Hkkx ls rksM+us okys ,Utkbe dks D;k dgrs gSa \ 
What is known at the enzyme which breaks DNA from internal parts ? 

8- mRNA ds fjolZ VªkalfØI'ku ls izkIr DNA dks D;k dgrs gSa \ 
What is known as the DNA which is produced by reverse transcription of mRNA ? 

[k.M&c 

(Section—B) 

9- jlkjksg.k izfØ;k dks le>kus okys ,d Hkkjrh; oSKkfud dk uke crkb,A 
Name an Indian scientist who explained ascent of sap. 

10- ijklj.k fl)kUr fdl izfØ;k ls lEcfU/kr gS \ 
To which process is osmotic theory related ? 

11- izdk'kh; vfHkfØ;k fdls dgrs gSa \ 
What is light reaction ? 

12- 'olu xq.kkad dks ifjHkkf"kr dhft,A 
Define respiratory quotient. 

13- clUrhdj.k D;k gS \ 
What is vernalization ? 

14- fjdfEcusUV DNA fdls dgrs gSa \ 
What is recombinant DNA ? 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 

(Section—C) 

15- izdk'kh; 'olu fdls dgrs gSa \ o.kZu dhft,A 
What is Photorespiration ? Explain. 

16- rkyk&pkch fl)kUr D;k gS \ 



What is lock and key theory ? 

17- CAM ikFk&os dk o.kZu dhft,A 
Describe CAM path-way. 

18- QkbVksØkse D;k gS \ bldh fØ;k'khyrk dks le>kb,A 
What is Phytochrome ? Describe its activity. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- folj.k ,oa ijklj.k esa vUrj Li"V dhft,A 
Differentiate between diffusion and osmosis. 

20- ,UtkbEl D;k gSa \ budk oxhZdj.k izLrqr dhft,A 
What are enzymes ? Present their classification. 

21- Xyk;dksyk;fll fØ;k dk o.kZu dhft,A 
Describe the process of glycolysis. 

22- Ti IykfTeM D;k gS \ tSo&rduhd esa bldh mi;ksfxrk dk o.kZu dhft,A 
What is Ti plasmid ? Explain its utility in biotechnology. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- gsDlkst eksuks&QkWLQsV 'kUV ikFkos dh izfØ;k dk fooj.k izLrqr dhft,A 
Explain the process of Hexose mono-phosphate shunt pathway. 

24- thu bathfu;Çjx }kjk thok.kqvksa esa ekuo bUlqfyu ds mRiknu dh rduhd dk o.kZu dhft,A 
Describe the technique of production of human insulin by bacteria through genetic 
engineering. 

 

 
 
 
 
 
 

 

 
 

 

 



I-107 

(Assignment Work)

    

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- fdUgha nks izdk’k fiz; ikS/kksa ds uke fyf[k,A 
Write the names of any two photophilous plants. 

2- fdUgha nks dhVHk{kh ikS/kksa ds uke fyf[k,A  
Write the names of any two insectivorous plants. 

3- vuqØe.k ds izdkj crkb,A 
Write the types of succession. 

4- Hkkjr esa ik;s tkus okyh ouLifr;ksa ds izdkj crkb,A 
Write the names of vegetation types found in India. 

5- /kku dk okuLifrd uke rFkk bldh nks Hkkjrh; fdLeksa ds uke crkb,A 



Write the botanical name of Rice and its two Indian varieties. 

6- xUuk ds nks mi;ksx fyf[k,A 
Write the two importances of sugarcane. 

7- ljlksa fdl dqy dk ikS/kk gS \ 
To which family mustard belongs ? 

8- twV ds ikS/kksa esa xq.klw= dh la[;k D;k gksrh gS \ 
What is the chromosome number of Jute ? 

[k.M&c 
(Section—B) 

9- LoikfjfLFkfrdh D;k gS \ 
What is Autoecology ? 

10- okrkoj.k D;k gS \ 
What is environment ? 

11- ok;qe.Myh; xSlksa ds uke fyf[k,A 
Write the names of atmosphoric gases. 

12- vknzZrk ty D;k gS \ 
What is hygroscopic water ? 

13- fdUgha nks ifŸk;ksa ls izkIr elkyk nsus okys ikS/kksa ds okuLifrd uke ,oa dqy fyf[k,A 
Give botanical names and families of any two plants giving spices from leaves. 

14- vnjd] gYnh] /kfu;ksa] thjk dk okuLifrd uke fyf[k,A 
Write botanical names of ginger, turmeric, coriander and cumin. 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- e`nh; dkjd ij laf{kIr fVIi.kh fyf[k,A 

Write a short note on edaphic factor. 

16- dstqjkbuk ds LrEHk dh vuqizLFk dkV dk LoPN ukekafdr fp= cukb,A 

Draw a well labelled diagram of the transverse section of Casuarina stem. 

17- ou ikfjfLFkfrd ra= dks le>kb,A 



Explain the forest ecosystem. 

18- bdSM dks ifjHkkf”kr dhft,A 

Define the Ecade. 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- lef”V ?kuRo dks le>kb,A 

Explain the population density. 

20- eklyksfHkn~ dks le>kb,A 

Describe the succulents. 

21- vkWDlhtu pØ dks fyf[k,A 

Write the O2 cycle. 

22- eDdk dk okuLifrd oxhZdj.k fyf[k,A 

Write the botanical classification of maize. 

l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 
(Section—E) 

23- e`nk ifjPNsfndk dks le>kb,A 
Explain the soil profile. 

24- vkyw ij ,d fucU/k fyf[k,A 
Write an essay on potato.  

  

 
 
 
 
 
 
 
 

 

 
 

 

 



I–108 

(Assignment Work)

 Origin of Quantum Mechanics, Atomic Molecular and Nuclear Physics  

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- QksVkWu dk fojke nzO;eku fdruk gksrk gS \ 

What is the rest mass of photon ? 

2- dkWEiVu izHkko esa fdu fdj.kksa dk iz;ksx fd;k tkrk gS \ 

Which kind of rays are used in Compton effect ? 

3- gsfeYVksfu;u ladkjd dk eku fdruk gksrk gS \ 

What is the value of Hamiltonian operator ? 



4- rjax Qyu fdu&fdu dkjdksa ij fuHkZj djrk gS \ 

On which factors wave function depends ? 

5- lewg osx rFkk dyk osx esa D;k lEcU/k gksrk gS \ 

What is the relation between group and phase velocity ? 

6- LVhQu fu;rkad () dk eku fdruk gksrk gS \ 

What is the value of Stefan’s constant () ? 

7- f}xa’kh Dok.Ve la[;k ‘l’ ds fy, ‘m’ ds fdrus eku lEHko gSa \ 

What are the possible values of ‘m’ for azimuthal quantum number ‘l’. 

8- lkbDyksVªkWu esa Mht ds vanj òŸkkdkj iFk dh f=T;k fdruh gksrh gS \ 

What is the value of radius in a circular path of cyclotron’s Dees ?  

[k.M&c 
(Section—B) 

9- fdlh bysDVªkWu dk osx D;k gksxk tc bysDVªkWu dk nzO;eku mlds fojke nzO;eku dk frxquk gksxk \ 

What is the velocity of electron when its actual mass is three times of its rest mass ? 

10- xSyhfy;u ds fu’pjrk rFkk laj{k.k fu;e dks fyf[k,A 

Explain the Galileans invariant and conservative law. 

11- Iykad dk fu;e fyf[k,A 

Define the Planck’s law. 

12- eqDr d.k ds fy, JksfMaxj lehdj.k fyf[k,A 

Write the Schrödinger’s equation for free particle. 

13- mRltZd o vo’kks”kd LisDVªe dks le>kb,A 

Explain the emission and absorptive spectra. 

14- ukfHkdh; lkaf[;dh fdls dgrs gSa \ 

What do you mean by nuclear statistics ? 

l=h; dk;Z& 2 
(Assignment—2) 



[k.M&l 

(Section—C) 

15- ekbdsYlu&eksysZ ds iz;ksx ds _.kkRed ifj.kkeksa dh O;k[;k dhft,A 

Explain the negative results of Michelson-Morley’s experiment. 

16- d`”.kfi.M fofdj.k o.kZØe dk lfp= o.kZu dhft,A 

Explain the backbody radiation spectra with diagram. 

17- ijek.kq ds LFkkf;Ro ds fy, cksg~j ds ekWMy lEcU/kh vfHkxg̀hr fyf[k,A 

Write Bohr’s model postulates for stability of an atom. 

18- lksfM;e D-js[kk dh lw{e lajpuk dh O;k[;k dhft,A 

Describe the fine structure of D-lines of sodium. 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 
(Section—D) 

19- ukfHkdh; fj,DVj dk laf{kIr o.kZu dhft,A 

Describe briefly the nuclear reactor. 

20- HF rFkk CO v.kq dh vUrj&ukfHkdh; nwjh dk fu/kkZj.k dhft,A 

Determine the internuclear distance of molecules HF and CO molecule. 

21- fl) dhft, fd vukis{kdh; eqDr d.k ls lEc) Mh czksXyh rjax ds dyk osx rFkk lewg osx cjkcj  

gksrs gSaA 

Prove that the phase and group velocity of  de Broglie’s wave are equal for non-relativistic 

free particles. 

22- ,dfoeh; ckWDl esa eqDr d.k ds fy, rjax Qyu dk fu/kkZj.k dhft,A 

Determine the wave function for a free particle in one- dimensional box.   

l=h; dk;Z& 4 

(Assignment—4) 



[k.M&b 

(Section—E) 

23- funsZ’k Ýsekas ls D;k rkRi;Z gS \ ykWjsUt ds :ikUrj.k fu;e le>kb,A 

What do you mean by frame of references ? Explain the Lorentz’s transformation rules. 

24- lqjaxu izHkko D;k gksrk gS \ foHko lh<+h ij rjaxksa dk ijkorZu rFkk ikjxeu dh JksfMaxj lehdj.k 

}kjk O;k[;k dhft,A 

Define the tunneling effect. Explain the phenomena of reflection and transmission at the 

barrier step by Schrödinger equation. 

 

 
 
 
 
 
 
 
 

 

 
 

 

 



I–109 

(Assignment Work)

 

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 
(Section—A) 

1- Qyd dsfUnzr ?kukdkj tkyd esa izfr ;wfuV lsy ek/; tkyd fcUnq dh la[;k D;k gksrh gS \ 

What is the number of lattice points in per unit cell of face centered cabic lattice ? 

2- esMyax fu;rkad dk eku fdruk gksrk gS \ 

What is the value of Medlung constant ? 

3- gkWy xq.kkad ds fy, eku lw= fyf[k,A 

Write the formula of Hall coefficients. 

4- yksgs dk D;wjh rki dk eku D;k gS \ 



What is the value of Curie temperature of iron ? 

5- ‘kq) v)Zpkyd ij rki c<+kus ls pkydrk ij D;k izHkko iM+rk gS \ 

What effect is observed on conductivity of pure semiconductor on raising its temperature ? 

6- mHk;fu”B mRltZd (CE) fo/kk esa /kkjk ykHk dk eku fdruk gksrk gS \ 

What is the value of current gain in common emitter transistor (CE) mode ? 

7- fczt rjax fn”Vdkjh esa fdrus Mk;ksM iz;qä gksrs gSa \ 

How many diodes are used in Bridge wave rectifier ? 

8- ikoj lIykbZ dk D;k dk;Z gksrk gS \ 

What is the work of power supply ? 

[k.M&c 

(Section—B) 

9- fØLVy ryksa ds chp tkyd vUrjky dks ifjHkkf”kr dhft,A 

Define the lattice interval of crystals. 

10- vk;fud fØLVy ds xq.kksa dks le>kb,A 

Explain the properties of ionic crystals. 

11- rk¡cs ds fy, vkbULVhu rki Eθ 240 K gSaA blds fy, vkbULVhu vkòfŸk Kkr dhft,] tcfd % 

 34 236.6 10 Joule-second, 1.38 10 Joule/Kh k       

Einstein temperature for copper is Eθ 240 K  

Find its Einstein frequency. Whereas : 

 34 236.6 10 Joule-second, 1.38 10 Joule/Kh k      

12- Bkslksa esa ÅtkZ cS.M fl)kUr ds vk/kkj ij pkyd] dqpkyd o v)Zpkyd dks ifjHkkf”kr dhft,A 

Define the conductor, insulator and semiconductor on the basis of energy band theory in 

solids. 

13- ‘kq) v)Zpkyd inkFkZ dks ifjHkkf”kr dhft,A 



Define the pure semiconductor. 

14- vuqxeu /kkjk rFkk folj.k /kkjk dks ifjHkkf”kr dhft,A 

Explain the diffusion current and drift current. 

l=h; dk;Z&2 

(Assignment—2) 

[k.M&l 

(Section—C) 

15- tsuj Mk;ksM dh dk;Zfof/k o lajpuk dks le>kb,A 

Describe the structure and working principle of Zener diode. 

16- /kkrqvksa esa QehZ ÅtkZ Lrj dks le>kb,A 

Describe the Fermi energy level of metals. 

17- D;wjh&ohl dk fu;e fyf[k,A 

Write the Curie-Weiss law. 

18- fofHkUu fo/kkvksa esa VªkaftLVj ds xq.kksa dh rqyuk dhft,A 

Describe the properties of transistor in different modes.  

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- fQYVj ifjiFk D;k gksrs gSa \ Js.kh izsjdRo fQYVj dh dk;Zfof/k dks le>kb,A 

What is a filter circuit ? Explain the working principle of series inductance filter. 

20- nksfy= fdls dgrs gSa \ ohu&fczt nksfy= dh dk;Zfof/k dks le>kb,A 
What is an oscillator ? Explain the working of Wien-Bridge oscillator. 

21- fuEufyf[kr ij laf{kIr fVIif.k;k¡ fyf[k, % 
¼v½ B-H oØ 
¼c½ pqEcdh; Mksesu 
Write short notes on the following : 

(a) B-H curve 



(b) Magnetic domain 

22- bysDVªkWu ds izHkkoh nzO;eku dh O;k[;k dhft,A 
Describe the effective mass of electron.  

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- M~;wyk¡x&isfVV ds fu;e dh dfe;ksa dks crkb,A bu dfe;ksa dks vkbULVhu ekWMy }kjk fdl rjg nwj 
fd;k tk ldrk gS \ 
Explain the drawbacks of Dulong-Petit’s law ? How  can it be removed by using Einstein 
model ? 

24- VªkaftLVj dh fLopu fØ;k dk lfp= o.kZu dhft, rFkk blds ykHk Hkh crkb,A 
Explain switching action of a transistor with diagram. Also write its advantages. 

  

 

 

 
 
 
 
 
 
 
 

 

 
 

 

 



I–110 

(Assignment Work)

     

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 

(Assignment—1) 

 [k.M&v 
(Section—A) 

1- lewg dh vkUrfjd&Lokdkfjrk dks ifjHkkf”kr dhft,A 

Define Inner-automorphism of Group. 

2- HkkxQy {ks= dks ifjHkkf”kr dhft,A 
Define quotient field. 

3- lfn’k milef”V dks ifjHkkf”kr dhft,A 
Define vector subspace. 

4- lfn’k lef”V ds vk/kkj dks ifjHkkf”kr dhft,A 
Define basis of vector space. 



5- vHkkT; xq.ktkoyh dks ifjHkkf”kr dhft,A 
Define Prime Ideal. 

6- eSfVªDl dh dksfV dks ifjHkkf”kr dhft,A 
Define rank of matrix. 

7- f},d?kkr le?kkr dks ifjHkkf”kr dhft,A 
Define Bilinear form. 

8- ykfEcd lfn’k dks ifjHkkf”kr dhft,A 
Define orthogonal vectors. 

[k.M&c 
(Section—B) 

9- x.ku fl)kUr dh O;k[;k dhft,A 
Explain counting principle. 

10- fl) dhft, fd 2 z ] oy; ( , , )z    dh xq.ktkoyh gS] tgk¡ z  iw.kk±dksa dk leqPp; gSA 

Prove that 2 z  is ideal of ring ( , , )z   , where z is set of integers. 

11- fl) dhft, fd fdlh ,d?kkrr% Lora= leqPp; dk izR;sd vfjDr mileqPp; Hkh ,d?kkrr% Lora= 
gksrk gSA 
Prove that any non-empty subset of a linearly independent set is linearly independent. 

12- izR;sd lfn’k lef”V ds jSf[kd ijra= leqPp; dk vf/kleqPp; jSf[kd ijra= gksrk gSA 
Every subset of a linearly dependent set of vectors is linearly dependent. 

13- ;fn eSfVªDl A  vkSj B  leku gSa rks fl) dhft, | A | | B | A 

If matrix A and B are similar, then prove that | A | | B | . 

14- f=Hkqt vlfedk ¼vkUrfjd xq.ku½ dks le>kb;sA 
Explain Triangle inequalities.  

l=h; dk;Z& 2 

(Assignment—2) 

 [k.M&l 
(Section—C) 

15- fl) dhft, N( )a  lewg G  dk milewg gksrk gSA 

Prove that N(a) is a subgroup of group G. 



16- ijh{k.k dhft, fd lfn’kksa dk leqPp; (2, 3, 1), ( 1, 4, 2)    vkSj (1,18, 4)  3V (R)  esa jSf[kdr% 

ijra= gS ;k Lora=A 

Examine whether the set of vectors (2, 3, 1), ( 1, 4, 2)    and (1,18, 4)  is linearly 

independent or dependent in 3V (R) . 

17- ;fn : U(F) V(F)f   lekdkfjrk gS] rc fl) dhft, bldh vf”V K , Uf  dh milef”V gksrk 

gSA 

If : U(F) V(F)f   is homomorphic, then prove that kernel Kf is subspace of U. 

18- vkUrj xq.ku lef”V V(F)  esa] fl) dhft, % 

(i) || || 0   vkSj || || 0   ;fn vkSj dsoy ;fn 0  A 

(ii) || || | | || ||a a     tgk¡ a  vfn’k gSA 

In an inner product space V(F), prove that : 

(i) || || 0   and || || 0   if and only if 0  . 

(ii) || || | | || ||a a    , where   is a scalar.  

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- lkbyks ds izFke izes; dks fyf[k, ,oa fl) dhft,A 

State and prove that first Sylow’s theorem. 

20- fl) dhft, izR;sd Øefofues; oy; dk lekdkjh izfrfcEc Øefofues; oy; gksrk gSA 

Prove that every homomorphic image of a commutative ring is a commutative ring. 

21- fl) dhft, fd nks lfn’k milef”V;ksa dk la?k ,d lfn’k milef”V gksrk gS ;fn vkSj dsoy ;fn os 

,d nwljs esa vUrjfo”V gkasA 

Prove that the union of two subspaces is a subspace if and only if one is contained in the 

other. 

22- vkUrj xq.ku lef”V esa lekukUrj prqHkqZt ds fu;e fyf[k, ,oa fl) dhft,A 



State and prove parallelagram law of inner product space. 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 
(Section—E) 

23- fl) dhft, izR;sd iw.kk±dh; izkUr dks {ks= esa var%LFkkfir fd;k tk ldrk gSA 

Prove that every integral domain can be imbedded into a field. 

24- izeq[k v{k izes; dks fyf[k, ,oa fl) dhft,A 

State and prove principal axis theorem.  

 

 

 

 

 

 

 

 

 
 

 

 



I–111 

(Assignment Work)

 Mechanics Part—2    

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 

(Assignment—1) 

[k.M&v 

(Section—A) 

1- Hkkj M  rFkk yackbZ 2a dh NM+ dk tM+Ro vk?kw.kZ D;k gksxk tc v{k NM+ ds e/; fcUnq ij yEc:i 
gS \ 
What will be moment of inertia of a rod of mass M and length 2a when the axis is 
perpendicular to the rod at mid point ? 

2- ek=k M  ,oa ifjHkze.k f=T;k K  okys fi.M dh fLFkj v{k ds ifjr% ?kweus ij xfrt ÅtkZ D;k gksxh 
\ 
What will be the kinetic energy of the body of mass M and radius of gyration K rotating 
about fixed axis ? 



3- ekuk nzO;eku m  okys fdlh fi.M ds fdlh fcUnq P  ij vkosx X  dk ,d /kDdk yxrk gSA ;fn 
vkosx X  dh fØ;k ls igys vkSj ckn esa X  dh fn’kk esa fi.M dh xfr;k¡ v  vkSj 1v  gkas] rks vkosx 

}kjk bl ij fd;k x;k dk;Z D;k gksxk \ 
Let an impulse X forces a body of mass m at its any point P. If velocity of the body in the 
direction of X before and after action of X on body are v and v1, then what will be the work 
done by the impulse on it ? 

4- tc dksbZ fi.M la;ksth cyksa ds vUrxZr ?kwe jgk gks rFkk mldh xfrt ÅtkZ ,oa fLFkfrt ÅtkZ dk 

eku Øe’k% 21

2
mv  rFkk mgh  gks] rc 21

2
mv mgh  dk eku D;k gksxk \ 

When a body is moving under conservative forces and its kinetic energy and potential 

energy are respectively 21

2
mv  and mgh, then what will be the value of 21

2
mv mgh  ? 

5- xSl izR;kLFk vFkok vizR;kLFk rjy gS \ mŸkj nhft,A 
Gas is viscous or inviscous fluid ? Give answer. 

6- fdlh rjy esa Mqcs gq, fi.M ds iw.kZ ;k vkaf’kd Hkkx ij yxus okys ifj.kkeh ncko dks dkSu&lk cy 
dgrs gSa \ 
The resultant pressure acting on a body submerged in a liquid completely or partially is 
called which force ? 

7- ;fn   ?kuRo okys ,d fi.M dk ,d Hkkx ftldk vk;ru 1V  gS] ,d nzo esa vkaf’kd :i ls Mwck 

gqvk gS ftldk vk;ru V  rFkk ?kuRo   gS] rc 1V  rFkk V  ds chp lEcU/k Kkr dhft,A 

If a portion of volume V1 of a body of density   is submerged partially in a liquid of 
volume V and density  , then find relation between V1 and V. 

8- ;fn V  vk;ru dh nks xSlksa ds ncko 1P  vkSj 2P  gSa leku rkieku ij vkSj ;fn mudk la;qDr 

vk;ru V  vkSj rkieku vifjofrZr jgrk gS] rks xSlksa ds feJ.k dk ncko 1 2P P  gksxkA ;g 

fdldk fu;e dgykrk gS \ 
If at same temperature pressures of two gases of volume V are P1 and P2 and if their 
combined volume is V and temperature remains same, then pressure of the mixture of gases 

will be 1 2P P . Whose law is this ? 

[k.M&c 
(Section—B) 

9- f=T;k a  vk/kkj okys o`Ÿkkdkj ‘kadq dk tM+Ro vk?kw.kZ blds v{k ds ifjr% Kkr dhft,A 
Find moment of inertia of a right circular cone having radius a of its base about its axis. 



10- Mh*vysEcVZ dk fl)kUr fyf[k,A 

Write D’Alembert’s principle. 

11- ifjfer cyksa ds fy, xfr dk lehdj.k fyf[k,A 
Write equations of motion for finite forces. 

12- nks rjyksa ds feJ.k dks cuk;k x;k gSA feJ.k dk ?kuRo   gSA rjyksa ds vk;ru dk vuqikr : 1m  
rFkk muds ?kuRo dk vuqikr : 1n  gSA rc bu rjyksa dk vk;ru Kkr dhft,A  

Mixture of two liquids is formed. Density of mixture is  . Ratio of volume of liquids is 

: 1m  and ratio of their density is : 1n . Then find volume of these liquids. 

13- rjy dh lrg ls lekukUrj prqHkqZt dh nwfj;k¡ h  vkSj k  gaSA rjy dk ?kuRo lrg ls nwjh ds 

vuqlkj ifjorZu’khy gSA fl) dhft, fd lrg ls ncko dsUnz dh nwjh 
3 2 2 3

2 2

3( )

4( )

h h k hk k

h hk k

  
 

 

gksxhA 
Distances of parallelogram from the surface of liquid are h and k. Density of the liquid 
varies as the distance from surface. Prove that distance of centre of pressure will be 

3 2 2 3

2 2

3( )

4( )

h h k hk k

h hk k

  
 

. 

14- ncko] vk;ru ,oa ije rki esa lEcU/k LFkkfir dhft,A 
Establish relationship among pressure, volume and absolute temperature. 

l=h; dk;Z& 2 

(Assignment—2) 

[k.M&l 
(Section—C) 

15- {kSfrt v{k ds ifjr% a  f=T;k okyk ,dleku òŸk dk pki nksyk;eku gSA ;g v{k pki ds e/; ij 
lery ds yEcor~ gSA fl) dhft, fd lk/kkj.k le:i yksyd dh yackbZ pki dh yackbZ ls Lora= gS 
rFkk ;g yackbZ 2a gSA 
Arc of a uniform circle of radius a is oscillating about a horizontal axis. This axis is 
perpendicular to the plane at mid of arc. Prove that length of simple bob is independent from 
the length of the arc and this length is 2a. 

16- ,d gYdh NM+ ABC ds rhu fcUnqvksa A, B  vkSj C  ij rhu Hkkj m  tqM+s gq, gSaA NM+ ds fljs A  
ls BC  nwj ij yEcor~ P  cy }kjk ,d /kDdk fn;k tkrk gSA fl) dhft, fd mRiUu gqbZ {kSfrt 

ÅtkZ 
2 2 2

2 2

1 P ( )

2 ( )

a ab b

m a ab b

 
 

 gksxh] tgk¡ AB a  rFkk BC b  gSA 



Three weights m are attached at three points A, B and C of a light rod ABC. At distance BC 
from the end A of rod a thrust of force P is given perpendicularly. Prove that the kinetic 

energy generated will be 
2 2 2

2 2

1 P ( )

2 ( )

a ab b

m a ab b

 
 

, where AB = a and BC = b. 

17- ;fn fi.M dk dqN Hkkx ,d nzo esa gks rFkk dqN Hkkx nwljs nzo esa gks] rc lUrqyu ds fy, ‘krs± Kkr 
dhft,A 
If some portion of a body is inside a liquid and some portion is inside another liquid, then 
find conditions for equilibrium. 

18- ;fn 10°C ij gok dh fdlh ek=k dk vk;ru 300 ?ku lseh- gks] rks 20°C ij gok dk vk;ru Kkr 
dhft,A 
If volume of any mass of air at 10°C is 300 cubic cm, then find volume of air at 20°C. 

l=h; dk;Z& 3 

(Assignment—3) 

[k.M&n 

(Section—D) 

19- f=T;k a  ,oa Hkkj M  okys irys Bksl v)Zxksys ds fy, fl) dhft, fd xq#Ro dsUnz ij 

2 283 83
M , M

320 320
a a  rFkk 22

M
5

a  eq[; tM+Ro vk?kw.kZ gksaxsA 

For thin solid hemisphere of radius a and weight M, prove that at centre of gravity  

2 283 83
M , M

320 320
a a  and 22

M
5

a  will be principal moment of intertia. 

20- Hkkj m  okys ,d fi.M ds fdlh fcUnq P  ij vkosx X  dk ,d /kDdk yxrk gSA ;fn X  dh fØ;k 

ls igys vkSj ckn esa fi.M dh xfr;k¡ X  dh fn’kk esa v  vkSj 1v  gksa rks fl) dhft, fd fi.M 

dh xfrt ÅtkZ esa cnyko vFkkZr~ vkosx }kjk bl ij fd;k x;k dk;Z 1

1
( )X

2
v v  gksxkA 

At any point P of a body of weight m impulse X is imposed. If in the direction of X 

velocities of the body before and after action of X are v and v1, then prove that change in 

kinetic energy of the body i.e. the work done by impulse on it will be 1

1
( )X

2
v v . 



21- Å¡pkbZ h  rFkk v/kZ’kh”kZ dks.k   okys [kks[kys gYds ‘kadq esa nzo Hkjk x;k gSA vk/kkj ds fje ij fdlh 

fcUnq ds lgkjs yVdk;k x;k gSA fl) dhft, fd vk/kkj ij ncko 
3 3

2

4 tan sin

1 15 sin

g h  

 
 gksxkA 

Liquid is filled in a hollow light cone of height h and semivertical angle  . Hanged from a 

point at ring of the base. Prove that the pressure at base will be 
3 3

2

4 tan sin

1 15 sin

g h  

 
. 

22- tc ,d fi.M dks ikuh esa Mqck;k tkrk gS rks muds 1 2,v v  o 3v  vk;ru ds Hkkx ikuh ds lrg ds 

Åij jgrs gSaA ;fn pkjksa rjQ gok dk ?kuRo Øe’k% 1 2,   vkSj 3  gks] rks fl) dhft, fd % 

2 3 3 1 1 2

1 2 3

0
v v v

        
     

When a body is submerged in water then its part of volume 1 2,v v  and v3 remain above the 

surface. If densities of air around it are respectively 1 2,   and  

3 , then prove that : 

2 3 3 1 1 2

1 2 3

0
v v v

        
   . 

l=h; dk;Z& 4 

(Assignment—4) 

[k.M&b 

(Section—E) 

23- jsyxkM+h ds fdlh fMCcs dk }kj jsyxkM+h dh yackbZ ds yEcor~ [kqyrk gSA ;fn jsyxkM+h Roj.k f  ls 

pyuk izkjaHk djrh gS] rks fl) dhft, fd bldk dks.kh; osx 
. 3

sin
2

f

a
    gksxk] tgk¡ 

.

  dks.kh; 

osx] 2 a  ,dleku }kj dh yackbZ rFkk }kjksa dks fpdus dCtksa ls tksM+k x;k gSA 

Door of any bogy of a train opens perpendicularly to the length of the train. If the train starts 

running from acceleration f, then prove that its angular velocity will be 
. 3

sin
2

f

a
   , 

where 
.

  is angular velocity, 2 a  is uniform length of the door and gates are joined with 

smooth hinges. 



24- ,d leprqHkqZt dks mlds ‘kh”kZ dks nzo ds lrg ij j[krs gq, nzo ds vUnj j[kk tkrk gSA leprqHkZqt 
dk fod.kZ m/okZ/kj gSA fl) dhft, fd fod.kZ 7 % 5 ds vuqikr esa ncko dsUnz dks ck¡Vrk gSA 
A rhombus is submerged inside a liquid with its one vertex at the surface of liquid. Diagonal 

of the rhombus is vertical. Prove that the diagonal divides the centre of pressure in the ratio 

7 : 5.  

 
 
 
 
 
 

 

 
 

 

 



I–112 

(Assignment Work)

     

 

ijh{kkFkhZ gsrq funsZ’k % 

[k.M v & vfr y?kqmRRkjh; iz'u ¼1 ls 8½ dqy 08 iz'u gS] lHkh iz'u vfuok;ZA izfr iz'u 0-5 vad mŸkj 'kCn lhek 
1&2 'kCn ;k ,d okD;A

[k.M c &  vfr y?kqmRRkjh; iz'u ¼9 ls 14½ dqy 06 iz'u gS ftlesa ls dksbZ 04 iz'u gy djsaA izfr iz'u 01 vad dk  
gksxkA mŸkj 'kCn lhek 75 ;k vk/kk istA 

[k.M l & y?kqmÙkjh; iz'u ¼15 ls 18½ dqy 04 iz'u gS ftlesa ls dksbZ 03 iz'u gy djsaA izfr iz'u 02 vad dk gksxkA 
mŸkj 'kCn lhek 150 ;k ,d istA 

[k.M n & v)Z nh?kZ mRrjh; iz'u ¼19 ls 22½ dqy 04 iz'u gS ftlesa ls dksbZ 02 iz'u gy djsaA izfr iz'u 04 vad dk 
gksxkA 'kCn lhek 300 ;k nks istA 

[k.M bZ &  nh?kZ mRrjh; iz'u ¼23 ls 24½ dqy 02 iz'u gS ftlesa ls dksbZ 01 iz'u gy djsaA izfr iz'u  08 vad dk 
gksxkA mŸkj dh 'kCn lhek 600&750 ;k 4&5 istA 

l=h; dk;Z& 1 
(Assignment—1) 

[k.M&v 
(Section—A) 

1- oxZ varjky dks ifjHkkf”kr dhft,A 

Define Class-Interval. 

2- lkewfgd lekUrj ek/; dks ifjHkkf”kr dhft,A 

Define combined arithmetic mean. 

3- fuEufyf[kr Js.kh dh ekf/;dk Kkr dhft, % 

10, 13, 22, 25, 8, 11, 19, 17, 31, 16 

Find the median of the following series : 

10, 13, 22, 25, 8, 11, 19, 17, 31, 16 



4- fuEukafdr dk gjkRed ek/; Kkr dhft, % 
5, 10, 15, 20 

Find the Harmonic mean of the following series : 

5, 10, 15, 20 

5- 52 iŸkksa dh rk’k dh ,d xM~Mh esa ls ckn’kkg fudkyus dh D;k izkf;drk gS \ 
What is the chance of drawing a King in a draw from a pack of 52 cards ? 

6- ,d vaxzsth dh iqLrd ls ;kn`fPNd :i ls i  Loj ds pqus tkus dh D;k izkf;drk gS \ 

What is the probability that a vowel selected random in any English book is an i  ? 

7- ;fn 2 0  ] rks lHkh 0 CFf   dk eku D;k gksxk \ 

If 2 0  , then value of all 0 CFf   be ................. . 

8- LorU=rk dh dksfV dk lw= crkb,A 
Define only formula of degree of freedom. 

[k.M&c 
(Section—B) 

9- cgqyd ds nks”k fyf[k,A 
Write the demerits of the mode. 

10- 2] 6] 18] 54] 162 dk xq.kksŸkj ek/; Kkr dhft,A 
Find the Geometric mean of 2, 6, 18, 54, 162. 

11- fuEu leadksa ls ek/; fopyu vkSj mldk xq.kkad ekf/;dk ls Kkr dhft, % 

Hkkj ¼fdxzk esa½ % 65] 50] 52] 60] 57] 55] 63] 70] 68 

Calculate mean deviation and its coefficient from median of the following data : 

Weight (kg) : 65, 50, 52, 60, 57, 55, 63, 70, 68 

12- ,d lk/kkj.k rk’k dh xM~Mh esa ls ,d dkyk iŸkk ;k ,d ckn’kkg ds [khaps tkus dh D;k izkf;drk gS 

\ 

What is the probability of drawing a black card or a king from a pack of ordinary playing 

cards ? 

13- Iok;lu caVu ij lf{kIr fVIi.kh nhft,A 

Write short note on Poisson Distribution. 



14- fuEu vk¡dM+ksa ds fy, lglEcU/k xq.kkad Kkr dhft, % 

X Y 

78 125 

89 137 

97 156 

69 112 

59 107 

79 136 

68 123 

61 108 

Calculate correlation coefficient from the following data : 

X Y 

78 125 

89 137 

97 156 

69 112 

59 107 

79 136 

68 123 

61 108 

 

l=h; dk;Z& 2 
(Assignment—2) 

[k.M&l 
(Section—C) 

15- fuEufyf[kr vk¡dM+ksa ls ekf/;dk Kkr dhft, % 
Find the median from the following data : 

X Frequency 

2 1 

3 2 

4 3 

5 4 

6 5 



7 6 

8 7 

9 4 

10 3 

16- fuEu leadksa ls ek/;] e/;dk ,oa cgqyd Kkr dhft, % 
22, 23, 20, 23, 24, 24, 19, 25, 23, 24, 25, 26, 24 

Find out mean, median and mode from the following data : 

22, 23, 20, 23, 24, 24, 19, 25, 23, 24, 25, 26, 24 

17- cst izes; dks dFku&lfgr fl) dhft,A 
State and prove Bayes’ Theorem. 

18- ;fn 1.23R 1  rks fl) dhft, fd 2.13R 1  vkSj 3.12R 1 A 

If 1.23R 1 , then prove that 2.13R 1  and 3.12R 1 . 

l=h; dk;Z& 3 
(Assignment—3) 

[k.M&n 
(Section—D) 

19- fuEufyf[kr leadkas ls prqFkZd fopyu vkSj mldk xq.kkad Kkr dhft, % 

Øe la[;k vad 
1 10 
2 15 
3 20 
4 25 
5 30 
6 35 
7 40 
8 45 
9 50 

10 55 
11 60 

Calculate the quartile deviation and its co-efficient from the following data : 

Order Number 

1 10 

2 15 

3 20 



4 25 

5 30 

6 35 

7 40 

8 45 

9 50 

10 55 

11 60 

20- ;fn rk’k dh ,d xM~Mh esa ls ,d iŸkk ;kn`fPNd :i ls fudkyk x;k rks bl ckr dh D;k izkf;drk 
gS fd ;g iŸkk % 

(i) fpM+h dh csxe ;k b±V dk ckn’kkg gksxk  

(ii) ckn’kkg ;k bDdk gksxk 

(iii) gqde dk iŸkk ;k ,d ckn’kkg gksxk 
If a card is drawn from a pack of cards at random, what is the probability that the card drawn 
is : 

(i) Either a queen of clubs or king of diamonds 

(ii) Either a king or an ace 

(iii) Either a card of spade or a king 

21- f}in caVu ds vk?kw.kks± ds fy, fl) dhft, % 

1 1
r

r r

d
pq n

dp 

 
     

  

For moments of binomial distribution prove that : 

1 1
r

r r

d
pq n

dp 

 
     

 

22- vk;rkdkj caVu ftlesa  
1

( ) ;f x a x b
b a

  


  

ds fy, fl) dhft, fd ek/; ds lkis{k ek/; fopyu 
4

b a
 gSA 

For a rectangular distribution in which  
1

( ) ;f x a x b
b a

  


 

prove that the mean deviation with respect to the mean is 
4

b a
. 



l=h; dk;Z& 4 
(Assignment—4) 

[k.M&b 

(Section—E) 

23- fuEufyf[kr vk¡dM+ksa ds fy, ,d ljy js[kk dk vklatu dhft, % 
X Y 

0 12 
5 15 

10 17 
15 22 
20 24 
25 30 

Fit the straight line for the following data : 

X Y 

0 12 

5 15 

10 17 

15 22 

20 24 

25 30 

24- gjkRed ek/; dks ifjHkkf”kr djrs gq, muds xq.k ,oa nks”kksa dk o.kZu dhft,A 
Define Harmonic Mean and write about merits and demerits of Harmonic mean. 

 

 

 
 

 

 


